

$$\frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{1}{2} = \frac{1}{2} \frac{$$

$$\angle ARMOR PRECESSION$$

 $H = gMB B \hat{S}^2 = igMB B \hat{G}^2 = \Delta \hat{G}$
 $\hat{\gamma} = \frac{1}{2}gMB B \hat{G}^2 = \Delta \hat{G}$

Density matrix formalism I

$$i\hbar \frac{\partial \hat{\rho}}{\partial t} = [\mathcal{H}, \hat{\rho}] .$$
 (1)

Ŧ

 $\mathcal{A} \mathcal{A} \mathcal{A}$

<ロト < 同ト < 三ト < 三ト

In the following we will focus on the Hamiltonian with s = 1/2

$$\mathcal{H} = \Delta \hat{\sigma}^z + \Omega \hat{\sigma}^x \,,$$

On the basis of eigenstates of $\hat{\sigma}^{z}$, $|\uparrow\rangle$ and $|\downarrow\rangle$, Eq. (1) takes the form $i\hbar \frac{\partial}{\partial t} \begin{pmatrix} \rho_{\uparrow\uparrow} & \rho_{\uparrow\downarrow} \\ \rho_{\downarrow\uparrow} & \rho_{\downarrow\downarrow} \end{pmatrix} = \begin{pmatrix} \Delta & \Omega \\ \Omega & -\Delta \end{pmatrix} \begin{pmatrix} \rho_{\uparrow\uparrow} & \rho_{\uparrow\downarrow} \\ \rho_{\uparrow\downarrow} & \rho_{\downarrow\downarrow} \end{pmatrix} - \begin{pmatrix} \rho_{\uparrow\uparrow} & \rho_{\uparrow\downarrow} \\ \rho_{\uparrow\downarrow} & \rho_{\downarrow\downarrow} \end{pmatrix} \begin{pmatrix} \Delta & \Omega \\ \Omega & -\Delta \end{pmatrix} \begin{pmatrix} \Delta & \Omega \\ \rho_{\uparrow\downarrow} & \rho_{\downarrow\downarrow} \end{pmatrix} = \begin{pmatrix} \gamma_{\uparrow\uparrow} & \rho_{\uparrow\downarrow} \\ \Omega & -\Delta \end{pmatrix} \downarrow^{\gamma}$

Density matrix formalism II

 $|\psi\rangle = a|\tau\rangle + b|\nu\rangle$ State = |a|² $F_{11} = |b|^2$ Larmor precession $g_2 = 0$

E

 $\mathcal{O} \mathcal{Q} \mathcal{O}$

Equations of motion ρ

$$i\hbar\frac{\partial}{\partial t}\rho_{\uparrow\uparrow} = -\Omega(\rho_{\uparrow\downarrow} - \rho_{\downarrow\uparrow})$$
Dynamics
only here
when $\Omega = 0$

$$\begin{cases}
) \quad i\hbar\frac{\partial}{\partial t}\rho_{\uparrow\downarrow} = 2\Delta\rho_{\uparrow\downarrow} - \Omega(\rho_{\uparrow\uparrow} - \rho_{\downarrow\downarrow}) \\
 2 \\
 i\hbar\frac{\partial}{\partial t}\rho_{\downarrow\uparrow} = -2\Delta\rho_{\downarrow\uparrow} + \Omega(\rho_{\uparrow\uparrow} - \rho_{\downarrow\downarrow}) \\
 i\hbar\frac{\partial}{\partial t}\rho_{\downarrow\downarrow} = \Omega(\rho_{\uparrow\downarrow} - \rho_{\downarrow\uparrow}). \\
 i\hbar\frac{\partial}{\partial t}\rho_{\downarrow\downarrow} = \Omega(\rho_{\uparrow\downarrow} - \rho_{\downarrow\uparrow}). \\
 1) \quad i\hbar \sum_{\partial t} \beta_{\Lambda t} = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 2) \quad i\hbar \sum_{\sigma} \beta_{\downarrow\uparrow} = \dots = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\uparrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\downarrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\downarrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\downarrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = \beta_{\downarrow \lambda} + \omega_{L} \\
 ih = 2 \frac{1}{2} \left(\sum_{\mu} \mu_{\Lambda} \beta \right) = 0$$

Expectation values spin projections I

$$\langle S^{\alpha}(t) \rangle = Tr\{\vec{g}(t) \hat{S}^{\alpha}\}$$

Density matrix Larmor precession

$$\hat{
ho}(t) = egin{pmatrix}
ho_{\uparrow\uparrow,0} &
ho_{\uparrow\downarrow,0} \, \mathrm{e}^{-i\omega_{\mathrm{L}}t} \
ho_{\downarrow\downarrow,0} \, \mathrm{e}^{i\omega_{\mathrm{L}}t} &
ho_{\downarrow\downarrow,0} \end{pmatrix}$$

From which the average of each spin component can be computed:

$$\begin{split} \langle \hat{S}^{\times}(t) \rangle &= \frac{1}{2} \operatorname{Tr} \left\{ \begin{pmatrix} \rho_{\uparrow\uparrow,0} & \rho_{\uparrow\downarrow,0} e^{-i\omega_{\mathrm{L}}t} \\ \rho_{\downarrow\uparrow,0} e^{i\omega_{\mathrm{L}}t} & \rho_{\downarrow\downarrow,0} \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \right\} \\ &= \frac{1}{2} \operatorname{Tr} \begin{pmatrix} \rho_{\uparrow\downarrow,0} e^{-i\omega_{\mathrm{L}}t} & \rho_{\uparrow\uparrow,0} \\ \rho_{\downarrow\downarrow,0} & \rho_{\downarrow\uparrow,0} e^{i\omega_{\mathrm{L}}t} \end{pmatrix} = \frac{1}{2} 2 \,\Re e \left(\rho_{\uparrow\downarrow,0} e^{-i\omega_{\mathrm{L}}t} \right) \end{split}$$

etc.

Expectation values spin projections II

generic initial state

$$|\psi(0)
angle=a|\uparrow
angle+b|\downarrow
angle$$

choosing

$$\begin{cases} a = \cos\left(\frac{\theta}{2}\right) \\ b = \sin\left(\frac{\theta}{2}\right) \end{cases}$$



◆□▶ ◆□▶ ◆□▶ ◆□▶

3

 $\mathcal{O} \mathcal{Q} \mathcal{O}$

Bloch sphere



$$|\psi\rangle = \cos\left(\frac{\theta}{2}\right)|\uparrow\rangle + e^{i\phi}\sin\left(\frac{\theta}{2}\right)|\downarrow\rangle$$
 (2)

<ロ> < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

5900

Alessandro Vindigni, ETH Zürich Master Equation and approach to thermal equilibrium





Nor Larmor precession nor Landau Zener (D.T.) bring to Hermal equilibrium



2 mechanism of Relaxation

$$\begin{pmatrix} f_{n+1} & f_{n+1} \\ f_{n}n & f_{n+1} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1}^{(n+1)} \end{pmatrix} \xrightarrow{(n)} \begin{pmatrix} f_{n+1}^{(n+1)} & 0 \\ 0 & f_{n+1$$

Thermal equilibrium

thermal averages of \hat{S}^{α} ($\alpha = x, y, z$) for S = 1/2with Hamiltonian $\mathcal{H} = g\mu_{\rm B}\vec{B}\cdot\hat{S}$

$$\langle \hat{S}^{lpha}
angle_{\mathrm{th}} = \frac{1}{\mathcal{Z}} \mathcal{T}_{\sigma} r \left\{ \langle \sigma | \hat{S}^{lpha} \mathrm{e}^{-\beta \mathcal{H}} | \sigma
angle
ight\} = \frac{1}{\mathcal{Z}} \sum_{\sigma=\pm 1} \mathrm{e}^{-\beta \hbar \omega_L \sigma/2} \langle \sigma | \hat{S}^{lpha} | \sigma
angle$$

$$\begin{cases} \langle \hat{S}^x \rangle_{\rm th} = 0 \\ \langle \hat{S}^y \rangle_{\rm th} = 0 \\ \langle \hat{S}^z \rangle_{\rm th} = -\frac{1}{2} \tanh\left(\frac{1}{2}\beta g\mu_{\rm B}B\right) = -\frac{1}{2} \tanh\left(\frac{1}{2}\beta\hbar\omega_L\right) \,. \end{cases}$$

(日)

 \mathcal{A}

Time evolution of "spin populations"

stochastic magnetization per spin as

$$M^{z}(t) = g\mu_{\rm B}S \left[P_{\downarrow}(t) - P_{\uparrow}(t)\right] = g\mu_{\rm B}S n(t)$$
$$\dot{n} = (\nu_{\uparrow} - \nu_{\downarrow}) - (\nu_{\uparrow} + \nu_{\downarrow})n$$
$$\Rightarrow \text{ solution } n(t) = n^{\rm eq} + n_{0} \,\mathrm{e}^{-t/T_{1}}$$

relaxation time

$$\frac{1}{T_1} = \nu_{\downarrow} + \nu_{\uparrow}$$

and the difference between equilibrium populations

$$n^{\rm eq} = \frac{\nu_{\uparrow} - \nu_{\downarrow}}{\nu_{\uparrow} + \nu_{\downarrow}} = \frac{{\rm e}^{\beta\hbar\omega_L} - 1}{{\rm e}^{\beta\hbar\omega_L} + 1} = \tanh\left(\frac{1}{2}\beta\hbar\omega_L\right)$$

Spin-lattice T_1 and spin-spin relaxation T_2

Eq. motion of ρ with phenomenological relaxation terms for $\Omega = 0$

$$\begin{split} &\frac{\partial}{\partial t}\rho_{\uparrow\uparrow} = -\nu_{\uparrow}\rho_{\uparrow\uparrow} + \nu_{\downarrow}\rho_{\downarrow\downarrow} \\ &\frac{\partial}{\partial t}\rho_{\uparrow\downarrow} = -i\omega_{\rm L}\rho_{\uparrow\downarrow} - T_2^{-1}\rho_{\uparrow\downarrow} \\ &\frac{\partial}{\partial t}\rho_{\downarrow\uparrow} = i\omega_{\rm L}\rho_{\downarrow\uparrow} - T_2^{-1}\rho_{\downarrow\uparrow} \\ &\frac{\partial}{\partial t}\rho_{\downarrow\downarrow} = -\nu_{\downarrow}\rho_{\downarrow\downarrow} + \nu_{\uparrow}\rho_{\uparrow\uparrow} \,. \end{split}$$

(日)

 $\mathcal{O} \mathcal{Q} \mathcal{O}$

The density matrix with T1 and T_2

$$\rho_{\sigma,\sigma'} = \begin{pmatrix} \cos^2\left(\frac{\theta}{2}\right) - \frac{1}{2}\left(n^0 - n^{eq}\right) e^{-t/T_1} & \sin\left(\frac{\theta}{2}\right) \cos\left(\frac{\theta}{2}\right) e^{-i\omega_{\rm L}t} e^{-t/T_2} \\ \sin\left(\frac{\theta}{2}\right) \cos\left(\frac{\theta}{2}\right) e^{i\omega_{\rm L}t} e^{-t/T_2} & \sin^2\left(\frac{\theta}{2}\right) + \frac{1}{2}\left(n^0 - n^{eq}\right) e^{-t/T_1} \end{pmatrix}$$

yields the averaged spin components

$$\begin{cases} \langle \hat{S}^{x}(t) \rangle = S \sin \theta \cos(\omega_{\rm L} t) e^{-t/T_{2}} & \text{Tz} \text{ pin juin} \\ \langle \hat{S}^{y}(t) \rangle = S \sin \theta \sin(\omega_{\rm L} t) e^{-t/T_{2}} & \text{velax. time} \\ \langle \hat{S}^{z}(t) \rangle = -S n(t) = -S \int n_{eq}(T) + (n_{el} - n_{el} T) e^{-t/T_{el}} & \text{velax. time} \\ & \text{with } S = 1/2 \text{ in the present case.} \\ T_{1} \quad \text{Spin-laftice} \\ \text{relax. time} & \text{relax.} \end{cases}$$

◆□▶ ◆□▶ ◆三▶ ◆三▶ ○三

 $\mathcal{A} \mathcal{A} \mathcal{A}$

Spin-lattice relaxation time T_1

$$\dot{M}^z = \frac{M^{z, eq} - M^z}{T_1}$$



Spin-spin relaxation time T_2

$$\dot{M}^{x} = -rac{1}{T_{2}}M^{x}$$

 $\dot{M}^{y} = -rac{1}{T_{2}}M^{y}$

 $T_2 \sim 1/(\gamma B_{
m loc})$ in the range of 100 μ s for NMR experiments.

Alessandro Vindigni, ETH Zürich Master

Master Equation and approach to thermal equilibrium

 $\mathcal{O} \mathcal{Q} \mathcal{O}$

Bloch equation

two relaxation terms plus spin precession:

$$\dot{M}^{x} = -\frac{1}{T_{2}}M^{x} - \gamma \left(\vec{M} \times \vec{B}\right)^{x}$$
$$\dot{M}^{y} = -\frac{1}{T_{2}}M^{y} - \gamma \left(\vec{M} \times \vec{B}\right)^{y}$$
$$\dot{M}^{z} = \frac{M^{z, eq} - M^{z}}{T_{1}} - \gamma \left(\vec{M} \times \vec{B}\right)^{z}$$

VIDEO MRI: https://www.youtube.com/watch?v=1CGzk-nV06g

 \mathcal{A}

MAGNETIC RESONANCE TIME SCALES

$$W_L = g \frac{\mu_B B}{5}$$

ESR B20.35 T

$$M_B = \frac{et_1}{2me} = 9.27 \cdot 15^{24}$$

 $M_B = \frac{et_2}{2me} = 9.27 \cdot 15^{24}$
 $M_B = \frac{et_3}{2me} = 9.27 \cdot 15^{24}$
 $M_B = \frac{et_4}{2me} = 9.27 \cdot 15^{24}$
 $M_$

$$\frac{\omega_{L}^{NMR}}{\omega_{L}^{EDR}} \approx \frac{J_{P}}{g_{e}} \frac{M_{N}}{M_{R}} = \frac{g_{P}}{g_{e}} \frac{M_{e}}{m_{P}} \approx \frac{g_{T}}{g_{e}} \frac{J}{z_{ooo}}$$

$$\omega_{L}^{NOMR} = 100 \text{ MHz} \implies T^{NMR} \approx 15^{8} \text{ s}$$

Spin Hamiltonian of the Fe4 cluster

Example tran

• Assuming an O_h crystal field, determine the S of eachFe³⁺ ion



- Determine the sign (FM or AM) of the exchange interaction between two neighboring Fe³⁺ ions (see structure on the right)
- Referring to the Hamiltonian

$$\mathcal{H}_{\mathrm{eff}} = -J\,\hat{\mathbf{S}}_1\cdot\left(\hat{\mathbf{S}}_2+\hat{\mathbf{S}}_3+\hat{\mathbf{S}}_4\right)$$

determine the g.s. multiplet $\hat{\bm{S}}^{\rm T}=\hat{\bm{S}}_1+\hat{\bm{S}}_2+\hat{\bm{S}}_3+\hat{\bm{S}}_4$

æ

 $\mathcal{O} \mathcal{Q} \mathcal{O}$

∃ →

• Based on what you have determined above, explain with your Example Exam own words why the Hamiltonian

$$\mathcal{H}_{\mathrm{eff}} = -D\left(\hat{\mathbf{S}}_{z}^{\mathrm{T}}\right)^{2} + 2\mu_{B} \, B \, \hat{\mathbf{S}}_{z}^{\mathrm{T}}$$

produces the scheme of levels of the figure on the right panel



Taken from L. Vergnani et al. Chem. Eur. J. 18 3390 (2012).

• Relate the level crossing to the steps observed in the magnetization curve of the Fe4 molecule. -∢ ⊒ ▶ Alessandro Vindigni, ETH Zürich Master Equation and approach to thermal equilibrium

